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1. The molarity of pure water is:
(A) 100 M
(B) 55.55M
(CQ) 50M
(D) 18 M

2. Colligative properties of a solution
depends on:
(A) nature of solution
(B) nature of solvent
(C) number of solute particles
(D) number of moles of solvent

3. Which of the following shows positive
Deviation from raoult’s law?

(A) CgHg and CgHsCH;
(B) CgHg and CCl,

(C) CHCl;and C,HsOH
(D) CHCl; and CH3COCH;

4. 31 g of ethylene glycol C;H¢O; is mixed
500 g of water. The freezing point of the
solution is:

(Ke= 2 K kg mol™)
(A) 373K
(B) 271 K
(Q) 273K
(D) 180 K

1. Y oIt Bl FAIeRAT &;
(A) 100 M
(B) 55.55 M
(C) 50 M
(D) 18 M

o

2. faerg &1 3uRRer TureHd AR FRar 8

(A) faeT &t upfad R

(B) faeirae & Upfd W

(€) faca & Hull &t T R
(D) facmas & Al Bt T=_AT R

3. 399 9 P 1 faag I8 & Fam 3
¢S fage uehRid #ar g2

(A) CeHg 3R CeHsCH3
(B) CeHe 3R cCCl,

(C) CHCl; 3R C,HsOH
(D) CHCl; 3R CH5COCH;

4. 31g QYT TSI B 500g Sl H o
SraT 8 | faerae o1 fgwis @
(K= 2 K kg mol™)
(A) 373K
(B) 271K
(C) 273K
(D) 180K




5. Tetragonal system has the following unit

cell dimensions:

(A) a=b=c,a=R=y=90’
(B) a=b#c, a=B=y=90°
(C) a#b#c,a=R=y=90"
(D) a=b#c,a=B=90" y=120

6. Which of the following is the correct
configuration of Fe* (Z=26)?

(A) [Ar]4s*3d°
(B) [Ar] 4s3d?
(©) [Ar]3d®
(D) [Ar] 4s*3d*
7. Which of the following has highest
melting point?

(A) ionic crystals

(B) molecular crystals
(C) covalent crystals
(D) metallic crystals

8. Leaching is a process for:

(A) reduction

(B) concentration
(O) refining

(D) oxidation

9. Which one of the following is an oxide

ore?

(A) Malachite

(B) Copper glance
(C) Haematite
(D) Zinc blende

10. Ammonia can be prepared by:

(A) ostwald process
(B) solvay's process
(C) haber's process
(D) contact process

5. 370 I ®IF 1 fgqHcaTe (tetragonal) Tdhd
HIFBT T BT AT 82

(A) a=b=c,a=B=y=90"
(B) a=b#c, a=B=y=90’
(C) a#b#c,a=p=y=90’
(D) a=b#c,a=p=90"y=120

6. 378 T Fe¥*(Z= 26) FT TE! AR
NI %:

(A) [Ar]4s°3d°
(B) [Ar] 4s3d
(C) [Ar]3d°

(D) [Ar] 4s*3d*

7. fufafaa & g gaie sifdiedH g2

(A) S fheed
(B) 3MTUgS febed
(C) egareh fohted
(D) uTfede foheed

8. ferme= (leaching) ufehar %?

(A) 3IHI0T
(B) TI<UT

(C) TMmed

(D) SHTRfTHRT

9. 370 T DI IHTRISS TP &7
() FrepISe

(B) BITR AT
(C) gHeTRE
(D) i s

10. ST 99 &1 fAf &

(A) 3iearcs fafy
(B) Hied fafey

(C) TR fafY

(D) Tl fafy




11.

12.

13.

14.

15.

16.

Which of the following acids is a dibasic
acid ?

(A) HsPO;
(B) HsPO,
(C) HPG;
(D) H3PO4

Which of the following is the strongest
base?

(A) AsH;
(B) SbH;
(C) PH;
(D) NH;

The hybridization state of central atom
in PCl; is:

(A) sp’d
(B) sp’d®
(C) sp’d’
(D) sp’

The synthesis of alkyl fluoride is best
accomplished by:

(A) finkelstein reaction
(B) swart’s reaction

(C) sandmeyer’s reaction
(D) wurtz reaction

Identify the following reaction:
C2H5C| + 2Na + C2H5C| > C4 H1o +2NaCl

(A) finkelstein reaction
(B) swart's reaction

(C) sandmeyer’s reaction
(D) wurtz reaction

The best method used for the
preparation of alkyl chloride from
alcohol is by treating the alcohol with:
(A) PCI5
(B) SOCI, in presence of pyridine
(C) PCl3
(D) dry HCl in presence of ZnCl,

11. 399 T B 1 37 fgamig g2

(A) HsPO;
(B) HsPO,
(C) HPO;
(D) H3PO,4

12. 298 A B 91 Uadl &R 87

(A) AsH;
(B) SbHs;
(C) PHs
(D) NH;

13. PCls & 1T TRHTY] 1 HHRUT SaRAT 7

(A) sp’d
(B) sp’d?
Q) sp’d’®
(D) sp’

14, 3chIed WIRISS §1 &I Ia9 fafy g7

() Thadq sififehar
(B) W< ffiifemar

(c) JsHTR SifYyfepar
(D) gt Sifferar

15. f9 3iffosar &t ugam:

C2H5C| +2Na + C2H5C| 9 C4 HlO +2NaCl

(A) Thopere sififoran
(8) WTc SffHfehar

(c) VAR ifYyfepar
(D) geot Sifeha

16. 3PS FARISS I I T IIH A §
q 3fchIed B MfNHaT HRI3 ST

(A) PClsY
(8) SOCI, ¥ (IS ot Iuffar o)
(€) pCl, T

(D) B HCl (ZnCl, BT JufRyfa 1)




17. The density of Chromium is 7.2gcm™.

If the edge length of the cubic cell is

289 pm, what is the type of unit cell?
(atomic mass of Cr=52 gmol™)

(A) bcc

(B) fcc

(C) simple cubic

(D) none of the above

18. Which of the following is paramagnetic
in nature?

(A TiO,
(B) NaCl
(@ N

(D) CuO

19. Frenkel and Schottky defect both are
found in:

(A) AgBr
(B) AgCl
(©) ZnS
(D) NaCl

20. Saturated solution of KNOs is used to
make salt bridge because:

(A) Velocity of K* is greater than that of NO5’

(B) Velocity of K" is less than that of NOj3’

(C) Velocity of K is equal to the that of NO3~

(D) KNOs; is highly soluble

21. For a redox reaction to proceed in a cell,
the EMF must be:

(A) positive

(B) negative

(C) zero

(D) none of the above

17. HIPY HTYIQ 7.2 gem> 81 TS Thb
HIVHT TG 81 TUT HR B! GaTS 289 pm
1 dl Tha BIFHI DI TP o
(Cr 1 URHATY G&HT = 52 gmol )

(A) bcc

18. TTH ¥ B UETHIT g2

(A) TiO,
(B) NaCl
(C) N,

(D) CuO

19. 399 Y frad Thova SR e gFf g
T STl 27

(A) AgBr
(B) AgCl
(Q) ZnS
(D) Nadl

20. g KNO; &1 SUIINT AqUr U &+ & g
fopan ST § ifas -

(A) K* 3T BT AT NO, 31T T 3ifee g 8
(B) K* 31T &T AT NO, 3T ¥ HH il §
(C) K* 31T BT AT NO,™ 31T & SRTeR 8l &
(D) KNO, OTd H 3 ga=id ]|

21 fordt Ia A YSa ifHfoar g9 & forg
3Y&HT EMF 8RTT:

(A) YATHDP

(8) FUTHE

c d

(D) 3T A DIs el




22. A galvanic cell is constructed with
Zn**/Zn (E°= -0.76V ) and
Fe?"/Fe (E° = -0.41V) ectrode . The emf
of the cell is:

(A) -035V
(B) +1.17V
(C) +0.35Vv
(D) -1.17v

23. Consider the reaction:
C6H50H + 3HN03 (conc.)% ‘A" + 3Hzo
Product ‘A’ is:

(A) o-nitrophenol
(B) m-nitrophenol
(C) 2,4 -dinitrophenol
(D) 2,4,6-trinitophenol

24. Lucas reagent is:

(A) anhydrous ZnCl, and conc. HCI
(B) anhydrous ZnCl; and conc. HNO3
(C) aqueous ZnCl; and H,SO,

(D) anhydrous ZnCl, and dil H,SO,4

25. The IUPAC name of CH3CH,OCH(CHs), is:

(A) isopropoxyethane
(B) 2-methoxy butane
(C) 1-methyl-1-methoxy ethane
(D) 2-ethoxy propane

26. C2H50Na + C2H5| > C2H5OC2H5 + Nal is
called :

(A) Finkelstein reaction
(B) Swarts reaction

(C) Williamson synthesis
(D) Wurtz reaction

22. 7n*/zn (E%=-0.76V ) 3R Fe?'/Fe
(E° =-0.41V) SAGCIS ATd NAAP A BT

EMF ©

(A) -0.35V
(B) +1.17V
(C) +0.35V
(D) -1.17V

23. fg siftforar 9 &7 a1el IS &
C6H5OH + 3HN03 (COﬂC.)e ‘A" + 3H20

24, T HUFHHD g

(A) ST znCl, Td Fig. HCl
(B) 3FT% znCl, & TG, HNO,
(C) ST zncl, TF H,S0,

(D) 3FT% znCl, Td TG, H,50,

25.  CH;CH,OCH(CH), T IUPAC -TTH 8?2

(€) 1 ﬁrznga 1- ez
(D) 2-SYIFITTA

26. C,HsONa + C,Hsl = C,HsOC,H;s + Nal.

HfYfpar Heard o

(A) Thorere sififoran
(8) TTc SffHfehar

(¢) faferame= dzeivor
(D) gt Sifferar

g




27. Which of the following does not react
with sodium metal:

(A) (CH3).0
(B) CH3;CH,OH
(C) CH;COOH
(D) CeHsOH

28. Among the following substances lowest
vapour pressure is exerted by;

(A) CGHsOCHs
(B) C;HsOH
(@ HO

(D) Hg

29. If a current of 1.5 ampere flows through
a metallic wire for 3 hours then how
many electrons would flow through the
wire?

(A) 2.25 X 10%
(B) 1.13 X 10%
(C) 1.01X10%
(D) 4.5X10%

30. Nernst equation for electrode is based
on variation of electrode potential with:

(A) temperature only

(B) concentration of electrolyte
(C) both Aand B

(D) density of the metal

31. Formula of copper pyrite is:

(A) Cu,S
(B) CuFeS;
(C) CuO
(D) CuyFeS,

32. Which one of the following is
diamagnetic in nature?

(A) Co**
(B) Ni®*
(C) Cu*
(D) Zn**

27. T8 Y S Na YT & I Nfehar Ta!
T 87

(A) (CH3),0
(B) CHs;CH,OH
(C€) CH5COOH
(D) CeHsOH

28. 379 ¥ fobd yard &1 ATy 318 YTdH &7

(A) CGHsOCHs
(B) C;HsOH
(€ HO

(D) Hg

29. fordil 4T & AR I 1.5 amp &1 faggd URT 3
G2 e YaIfed P11t & | dR ¥ Yarfed
B aTe Selae I bl TReAT BII:

(A) 2.25 X 10%
(B) 1.13 X 10%
(C) 1.01X10%
(D) 45X 10%

30. T THIHU F IIUR sAFIS fava
R ware:

(A) PHad a9 TR

(8) degd 3fUHed HIYiGdl TR
€ ASRBIAI R

(D) UTIg & g WR

31. HIR USRIZC BT 3 G &:

(A) Cu,S
(B) CuFeS;
(© Cu,O
(D) CuyFeS;

32. gﬁ@aﬁquﬁqﬁwmm

(A) Co™
(B) Ni**
(c) cu®
(D) zn*




33. Colour of transition metal ions are due to
absorption of some wavelength. This
results in

(A) d-d transition
(B) p-p transition
(C) s-s transition
(D) d-f transition

34. Bromination of methane in presence of
sunlight is a
(A) nucleophilic substitution
(B) free radical substitution
(C) electrophilic substitution
(D) nucleophilic addition

35. The reaction of toluene with Chlorine in
presence of FeCl; gives predominantly.

(A) a mixture of o- and p- chlorotoluene
(B) benzyl chloride

(©) m-chlorotoluene

(D) benzoyl chloride

33. HHHUI YUTG3H o M FHIRT DT A=Y
FR T UGRIA FRA 8| SHHT BRI &:

(A) d-dw
(B) p-p AhHU
(C) s-s HhHUT
(D) d-f HehHUT

34. T4 USRI DI JURYT § Hie H1
@Tﬂ:ﬂWUT%:

(A) TS Hal T
(B) HFI YT YR
(C) odeH Wel ufdwra
(D) NS Tl AT Siffehar

35. FeCl, ! U H,ags Bt sififesar
?ﬁﬂg%muwﬁwwwﬁw

(A) o- T p- FARICITS BT Hsfur
(B) SOM3d FARTSS
(C) m-

(D) SV FARISS




